@ #hAHR 2024495

HRASHEWETNITRD>

Hiurle (REERER) 0BS5S
(202411 A D HARIE]

CORUHEELRZ2024F6 AN52024F8 A O REHIAR(ICED, 2024F 11 BRET D DI AR E
(BEARE) ZERNBERRHECEIESTROLBDRAEIETVLEEZFIOT, BMSEVLET,

O—fstlE BT SHEBLA
s X Bi
ek SRR %ﬁﬁ@ lei@ o) %?éﬁ@ 1R
BERA [0OMNB15MET 946.00 | 200.69 227.20 | 217.20 | 209.15 +8.05
REXB [15mMEBIS50mMET 1,454.20| 166.81 19332 | 183.32 | 175.27 +8.05
REERC [50mEBZ200mMET 2,013.00| 155.63 182.14 | 172.14 | 164.09 +8.05
PERD [200mMZEBZ800mMET 7,700.00( 127.20 153.71 143.71 135.66 +8.05
REFRE (800MZIBZ 35S 9,900.00| 124.45 150.96 140.96 132.91 +8.05

% BRFOMBIICED. 1 MDA 1ORMES SN Bz RALLES (BEBRITIDZIE)

OAZBEETEI5E
HAOHZARE = BEARE + (SRAENE ERE) x AXIERS)
(B) ZfEMAER25m]0fARE = 1,454.20M + ( 183.32 x 25m) = 6037M
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ERE | A A8E BHEZE | AA8E FERE | AZA8E FHE | AA8E EHE | A A8E BHRE | AA8E
om 946 10m 3,118 20m | 5,120 30m | 6,953 som | 8,787 50m | 10,620
i 1,163 11m 3,335 21m | 5,303 31t | 7,137 a1m | 8,970 5im | 10,792
2m 1,380 12m 3,552 22m | 5,487 32m | 7,320 a2m | 9,153 52mi | 10,964
3m 1,597 13m 3,769 23m | 5,670 33m | 7,503 43m | 9,336 53m | 11,136
am 1,814 14m 3,986 24m | 5,853 34m | 7,687 44mi | 9,520 54m | 11,308
5m 2,032 15m | 4,204 25m | 6,037 35m | 7,870 45m | 9,703 55m | 11,480
6m 2,249 16m | 4,387 26m | 6,220 36m | 8,053 46m | 9,886 56m | 11,652
7m 2,466 17m | 4,570 27m | 6,403 37m | 8,237 47m | 10,070 57m | 11,824
8m 2,683 18m | 4,753 28m | 6,587 38m | 8,420 a8m | 10,253 58m | 11,997
9m 2,900 19m | 4,937 29m | 6,770 39m | 8,603 49m | 10,436 s5om | 12,169
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| BERSAEE = (TORRMIE — EETRAUER(66,310M]) + 100 x 0.084 x 1.1 |
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